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Questions:

Q1. From the given options, identify the segment in the sentence which contains the
grammatical error.

Every employee of the company were given a two bedroom flat as Diwali bonus.
As Diwali bonus.

a two bedroom flat

every employee

were given

OO w>

Q2. In this question, a part of the sentence is in bold. Below are the given alternatives
to the bold part. Please improve the sentence using the right alternative.

Every person was not fitted for everything.
A. was not fit at
B. No Improvement required
C. isnot fit at
D. is not fit for

Q3. The following question has been given in the Active/Passive voice. From the given
options, please choose the one which best expresses the given sentence in
Passive/Active voice.

The lightning caused a serious forest fire and damaged many nearby houses.

A. A serious forest fire has been caused by lightning and many nearby houses have
been damaged.

B. A serious forest fire was caused by lightning and many houses are damaged.

C. Aserious forest fire had been caused by lightning and many nearby houses had
been damanged.

D. A serious forest fire was caused by lightning and many nearby houses were
damaged.

Q4. In this question the sentence has been given in Direct/Indirect speech. Out of the
four alternative suggested, select the one which expesess the same sentence in
indirect/direct speech.

Rakesh says, “Can you prepare a cup of tea for me, Sunita?”
A. Rakesh tells Sunita to prepare a cup of tea for him.
B. Rakesh tells Sunita if she could prepare a cup of tea for him.
C. Rakesh asked Sunita if she can prepare a cup of tea for him.
D. Rakesh asks Sunita if she can prepare a cup of tea for him.

Q5. Choose the correct alternative out of the four options and fill in the blank.

The assistant in the library picked up the books from the tables and put back
on the shelves.

A. they

B. its

C. them

D. it



Q6. Choose the correct antonym for the bolded word?

Nefarious
A. Evil
B. Pleasing
C. Rotten
D. Infernal

Q7. Which dynasty gave India its famous temple of Khajuraho?
A. Pawar
B. Mauryas
C. Chandelas
D. Holkars

Q8. The Earth completes one rotation on its axis in?
22 h 30 min

23 h 56 min 4.9 sec

24 h

23 h 10 min 2 sec
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Q9. Which part of the Indian constitution deals with “Fundamental Rights”?
A. Partl
B. Partll
C. Partlll
D. Part IV

Q10. On the basis of which of the following indicator, the lifestyle standard of person
can be identified?

A. Gross Domestic Income

B. Net National Income

C. Per Capita Income

D. Disposable Personal Income

Q11. India has imported Date Palm tree from which country, as part of sapling planting
event under G-20 Summit?

A. Saudi Arabia

B. UAE

C. Oman

D. Bahrain

Q12. Who won the Gold medal in the shooting (Women’s 10m Air Pistol Individual)
event at Asian Games 2023.

Kishmala Talat

Esha Singh

Palak

None of them
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Q13. Bharatskills Forum was launched under which Union Ministry?
A. Ministry of Education
B. Ministry of Skill Development and Entrepreneurship
C. Ministry of MSME
D. Ministry of Commerce and Industry
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Q14. From the following three elements given, you need to select the figure which will
best represent the relationship amongst the three elements.
Boys, Students, Athletes

A. B.@ . C. D. Og

Q15. Read the paragraph carefully and determine one main point the author is trying to
make.
A few states in this country are considering legislation that would prohibit schools
from using calculators before the sixth grade. Other states take a different position.
Some states are insisting on the purchase of graphing calculators for every student in
middle school.
This paragraph best supports the statement that in this country

A. calculators are frequently a detriment to learning math

B. there are at least two opinions about the use of calculators in schools
C. state legislators are more involved in education than ever before
D

. the price of graphing calculators is less when schools buy in bulk.

Q16. Study the following letter-number series and then answer the question
HPOIGAMT4BKR7NDYJ3SCEQS8

If the first half of the above sequence is written in the reverse order, which of the
following will be the ninth letter/number to the right of the sixteenth letter/number
from your right?

A Q

B. 3

C.Y

D. J
Q17. What are the next two terms in the following series?

61, 57, 50, 61, 43, 36, 61

A. 29,61
B. 27,20
C. 31,61
D. 29, 22



Q18. Two stations R and S are 400 km apart from each other. A train leaves from R to
S and simultaneously another train leaves from S to R. Both trains meet after 10 hours.
If the speed of the first train is 4 km/hr more than the second train, then what is the

speed of the slower train?

A. 16 km/hr
B. 26 km/hr
C. 18 km/hr
D. 22km/hr

Q19. Due to an increase of 30% in the price of eggs, 3 eggs less are available for Rs
9.10. The present rate per egg is

A. 91 paise

B. 78 paise

C. 48 paise

D. 84 paise

Q20. Find the compound interest on Rs 10,000 in two years @ 4% per annum, the interest

being compounded half yearly.

A. 637.55
B. 824.32
C. 800

D. 724.67
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